“Smart  Investor’s Calculator” User’s Guide

Smart Investor’s Calculator (SIC) allows users to find optimal investment portfolios through solving allocation problems with the selected criterion and restrictions on shares of investment in each instrument\group. In other words, SIC helps investors to find investment portfolios that, maximize returns and limit risks.

A user may choose to maximize a pre-tax or post-tax rate of return on a portfolio, subject to restrictions, which reduce the risks.  The user may edit, add and navigate the investment data.

1. Entering the data into databases

a. Select the “Edit” item from the menu. The “Edit” form will appear.

b. Select a group (database) from the “Group” list.

c. Click on the “Add” button to create a new record.

d. Enter the data into the fields on the form.

e. Click on the “Save” button.

2. Selecting a portfolio of investments

a. Select a group of instruments from the “Group” list.

b. Select an item from the “Items” list.

c. Click on the “Add Items” button. A new item will be added to the portfolio.

d. Repeat steps from A to C for each instrument you wish to include in your portfolio.

3. Choosing a criterion and restrictions

a. Click on the “Next” button of the main form. The “Criteria” form will appear.

b. Select the criterion from the “Criteria” list.

c. Select an instrument from the “Restrictions” list.

d. Enter minimal and maximal limits (in percentages) for investment in this instrument.

e. Click on the add button. The restriction will appear in the text box.

f. Repeat steps from C to E for all instruments in your investment portfolio.

4. Finding the optimal portfolio

a. Click on the “Calculate” button of the “Criteria” form. The new form “Results” will appear with results in the text box. 

b. To save the results, enter a name of the portfolio into the “Portfolio” field and click on the “Save” button.

Example.

An investor has an amount of money to invest in three investment choices: stocks, bonds, and saving certificates. The return on investment in each of the three choices is known and is expected to persist in the future. The investor wishes to diversify her investment fund because of the element of risk. The current annual yields in percentages are: for stocks –12%, bonds-8%, saving certificates-6%. She wishes to restrict the investment in stocks to not more than 50%, but not less than 30% and to restrict the investment in saving certificates not more than 20%, but not less than 10%. However, the investor does not wish to invest less than 20% and more than 80% of her fund in bonds to enhance income potentials. The tax rates for the investor are 10% on stocks, 15% on bonds, and 5% on saving certificates. How should she distribute her funds among these three choices to realize the maximum after-tax return?

Solution:

Step 1 Select instruments in a portfolio.
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Step 2 Select a criterion and enter restrictions.
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Step 3 Find the solution.
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